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No | XHA | XHERS | X% XHAR

1 7A5H8 E= 5,000 (L& XN EEIBESBRE

2 7A5H8 b L) 6,000 (¥FEMPRAR

3 7A8H E= 12,000 [SFkm- XM E TR EEWHERIRE

4 7A12H 2 5000 |#RIRTIBFRKBEZLHARE

5 78 18H B 10,000 (FIBETRDER FHESFH

6 7A19H 2 5000 | ERRERME - THIEER KR K& (KAKKIN)

7 7H238 Gl 5000 |TltZBHEEZESEE HEFH

8 7H258 b L) 4,870 [fFERPRMANK

9 7H258 b L) 1,800 |HFE MPREAA

10 | 7R268 b L) 9,965 (¥FEMPRAR

11 | 7H298 b L) 4,460 [fFERPRMANK
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B 2 15000 | =& 6 40,000
= 2 17000 %= 7 43,000
B 0 o| E# 0 0
LA 5 27,095 | &4+ 11 62,586
=y: 1] 2 10,000 | B 3 22,000
R&E 0 o R& 0 0
ZDfth 0 0| Zhith 0 0
INET 11 69,095 | /it 27 167,586
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